ABB BK

Arosserien 6 1:a 2019-11-21

IMP over faltet, 22 bord, 44 par. Antal brickor: 12.

Plac Par Poéng Namn MID
1 206 3.91 Zenon Grajek - Bengt Nilsson 11752 18043
2 308 3.28 Erik Lindeldf - Gunnar Wilén 3973 42658
3 3 2.92 Fredrik Mirhag - Tommy Petersson 15818 12924
4 5 1.92 Maria Gron - Sture Helmersson 28267 16749
5 104 1.74 Anette Maretics - Mickey Maretics 24689 50249
6 207 1.27 Rolf Forsberg - Lotta Engvall 13471 49663
7 102 121 Benny Karlsson - Mikael Eliasson 9893 63
8 103 1.18 Johnny Ramsten - Tommy Lindstrém 90802 38791
9 301 1.15 Nils Aimgren - Lars-Erik Strand 3959 3985
10 105 0.96 Leo Skogsholm - Kjell Eklund 3386 51491
11 208 0.88 Solveig Bystrém - Mats Bodén 57019 80071
12 1 0.73 Elisabeth Stanley - John-Erik Hornfeldt 8807 4866
13 106 0.71 Hernando Slottsdahl - Conny Wahlgren 8996 10733
14 202 0.46 Per-Ake Jansson - Kent Roxberg 2714 2703
15 204 0.44 Hakan Lindh - Anders Lovling 6055 18166
16 107 0.01 Peter Bjérnberg - Mikael Engvall 50796 49662
17 307 -0.01 Jan Dellve - Leif Rick 92586 87414
18 4 -0.44 Christer Stenberg - Claes Ahgren 3984 2664
19 2 -0.46 Dan Johansson - Ake Fransson 8042 7976
20 306 -0.71 Bosse Palo - Jonny Mattsson 56254 65947
21 201 -0.73 Lennart Ekholm - Christer Astrém 50946 38022
22 8 -0.88 Lars Rydman - Birgitta Kerstis 17814 28264
23 305 -0.96 Agneta Akerlund - Karl-Erik Akerlund 7895 7894
24 101 -1.15 Asa Andersson - Carl-Bertil Carlsson 7928 27991
25 303 -1.18 Lennart Fredriksson - Rainer Trapp 9424 36579
26 302 -1.21 Bo Wiker - Tommy Ringstrom 4014 15949
27 7 -1.27 Rolf Andersson - Lennart Karlsson 87449 2871
28 304 -1.74 Peter Forsberg - Stefan Andersson 51490 13753
29 205 -1.92 Helena Lindholm - Johan Skruve 49544 49547
30 203 -2.92 Lars Marjoniemi - Jérgen Lundberg 14508 7657
31 108 -3.28 Lena Andersson - Per-Erik Eriksson 11061 23457
32 6 -3.91 Boris Johansson - Barbro Wrangskog 40752 22753
33 9 0.00 - - -
33 10 0.00 - - -
33 11 0.00 - - -
33 109 0.00 - - -
33 110 0.00 - - -
33 111 0.00 - - -
33 209 0.00 - - -
33 210 0.00 - - -
33 211 0.00 - - -
33 309 0.00 - - -
33 310 0.00 - - -
33 311 0.00 - - -
1 49854 Basta kontrakt 2 4E8 Basta kontrakt 3 49762 Basta kontrakt
Nord v KD963 64 O =-920 Ost v KDKn54 54 O =-450 Syd v3 5¢ S =400
Ingen ¢ EKn NS +975 ov + EKn10752
#104 & ¢ v & NT #KD5 & ¢ v &N »E6 & ¢ v & NT
4E73 4 DKn102 N14521 4 KKn76543 4 D102 N75822 4EDKNn10 43 3 104 9 8
vEKn72 ¢5 S14521 v2 vE973 S75822 v 952 vKD1087 3 114 8 8
+ D92 + K108 O 129 8 1010 | ¢DKn3 ¢+ EK2 O6 75 118 + K8 ¢- 102 9 4 5
#KKn6 #E8752 V 129 8 1111 | #E3 #1076 V675 118 #10953  #KDKn8742 102 9 4 5
4 K6 49 & K854
v 1084 v 1086 v EKn64
476543 + 10864 + D9643
«D93 #Kn9842 »-
Par Kontr Ut Res Poéang Par Kontr Ut Res Par Kontr Ut Res Poéang
5205 44 O-2 ¥4 100 143.0 -143.0 (102 302 24 V+3 +9  -200 . 0.0| 3203 5vDO-6 ¢3 1700 259.0 -259.0
8 208 3NV-2 ¢3 100 143.0 -143.0( 1 201 44 O+1 v6  -450 . 6.0 (104 304 5¢DS= &4A 550 118.0 -118.0
105 305 2v S-2 #6  -100 86.0 -86.0 2 202 44 V+1 vK -450 . 6.0 (103 303 64D O-2 vA 500 104.0 -104.0
102 302 2NV +1 ¥3  -150 68.0 -68.0| 3203 44 V+1 vK -450 . 6.0 8208 5¢ N= +K 400 78.0 -78.0
108 308 2NV +2 49  -180 60.0 -60.0 4 204 44 V+1 vQ -450 6.0 6.0 1201 4vDO-143 200 19.0 -19.0
4 204 2vyDN-2 «aQ  -300 20.0 -20.0( 5205 44 V+1 vK  -450 6.0 6.0 6206 5v0-2 ¢4 200 19.0 -19.0
101 301 3NV= 3 400 -17.0 170| 6 206 44 V+1 vK -450 6.0 6.0 (102 302 5v O-2 43 200 19.0 -19.0
106 306 3NV= 9 -400 -17.0 170 7 207 44 V+1 vK -450 6.0 6.0 (105 305 4v O-2 43 200 19.0 -19.0
1201 3NV+1 vK -430 -29.0 29.0( 8 208 44 V+1 vK -450 -6.0 6.0 (107 307 54 O-2 3 200 19.0 -19.0
2202 3NV+1 &T -430 -29.0 29.0(101 301 44 V+1 &K -450 -6.0 6.0 7207 4v0O-1 44 100 -15.0 15.0
3203 3NV+2 43 -460 -39.0 39.0|103 303 44 V+1 vK -450 -6.0 6.0 (108 308 54 O-1 ¢4 100 -15.0 15.0
6 206 3NV+2 vK -460 -39.0 39.0(104 304 44 V+1 vK  -450 -6.0 6.0 5205 5¢ N-1 &K -50 -59.0 59.0
7207 3NV+2 49 -460 -39.0 39.0(105 305 44 V+1 vK -450 -6.0 6.0 4204 5¢DN-1 «K -100 -74.0 74.0
107 307 3NV +2 #T -460 -39.0 39.0(106 306 44 V+1 vK -450 -6.0 6.0 (106 306 44D N-2 #K  -300 -126.0 126.0
103 303 3NV +3 49  -490 -51.0 51.0(107 307 44 V+1 vK  -450 -6.0 6.0 2202 44DN-3 vK -500 -163.0 163.0
104 304 2#DN-6 4Q -1400 -221.0 221.0 (108 308 44 V+1 vK  -450 -6.0 6.0 (101 301 54D O= 45 -750 -202.0 202.0
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4 4 KKn10954 Basta kontrakt 5 4 E973 Basta kontrakt 6 4 D764 Basta kontrakt
Vast v8 7¢ VD -3800 Nord v KKn 5¢ N =650 Ost v EKn5 34 O =-140
Alla +9 NS + K10852 ov ¢ 954
#109764 & ¢ v & NT #63 & ¢ v & NT #Kn87 & ¢ v & NT
« D6 .- N6 3 7 128 « K84 « DKn105 N 8 10119 10 & Kn9 « E£10853 N3 5745
v 62 v EDKn54 S 6 3 7 128 vD9854 w7 S 8 10119 10 v 832 vK4 S35745
410863 ¢+KDKn754 O 6 106 1 4 ¢+ D97 ¢ Kn63 052232 +Kn1082 ¢ E6 O 107 6 9 8
#KDKn32 #85 V 6 105 1 4 £82 #DKn975 V52232 #EKD3 #9654 vV 107 5 9 8
4 E8732 462 & K2
v K10973 v E10632 vD10976
¢ E2 ¢+ E4 + KD73
*E #EK104 #102
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
3 203 64 N= ¢K 1430 211.0 -211.0f 5 205 3NS+3 &2 690 96.0 -96.0104 304 3NV-2 vA 200 110.0 -110.0
2 202 54D N +1¢K 1050 149.0 -149.0 |103 303 3NS+2 #8 660 86.0 -86.0| 2 202 Pass 45.0 -45.0
1201 54 S+1 v6 680 46.0 -46.0|106 306 3NS+2 ¢9 660 86.0 -86.0| 5 205 Pass 45.0 -45.0
4 204 54 S+1 &K 680 46.0 -46.0|107 307 3NS+2 #8 660 86.0 -86.0|105 305 Pass 45.0 -45.0
5205 44 S+2 v6 680 46.0 -46.0|104 304 3NN+1 ¥7 630 70.0 -70.0 103 303 3v S-1 &A -50 21.0 -21.0
7 207 54 N+1 ¢K 680 46.0 -46.0|105 305 3NS+1 #8 630 70.0 -70.0 (107 307 3v S-1 #K -50 21.0 -21.0
101 301 54 S+1 #Q 680 46.0 -46.0 (102 302 4v S= #8 620 70.0 -70.0( 1201 3vS-2 #A -100 -1.0 1.0
102 302 44 S+2 &K 680 46.0 -46.0| 1201 3NS= #8 600 60.0 -60.0| 3203 3«V= ¢4 -110 -2.0 2.0
106 306 44 N+2 ¢K 680 46.0 -46.0| 3 203 3NS= #8 600 60.0 -60.0 106 306 3# V= &7 -110 -2.0 2.0
105 305 44 N+1 ¢K 650 37.0 -37.0| 7 207 3NN= #Q 600 60.0 -60.0( 7 207 3#0+1 T -130 -150 15.0
108 308 64D O-2 #A 500 -11.0 110 2 202 3NS-1 &8 -100 -124.0 1240 8 208 4#0O0= T -130 -15.0 15.0
8 208 5¢DO-14A 200 -85.0 85.0| 4204 3NS-1 44 -100 -124.0 124.0| 4 204 34 O= ¥9 -140 -18.0 18.0
103 303 5¢DO-1 #«A 200 -85.0 850 6206 3NN-1 «Q -100 -124.0 124.0|102 302 34 O= 6 -140 -18.0 18.0
107 307 5¢ O-1 #A 100 -108.0 108.0| 8 208 3NS-1 8 -100 -124.0 124.0 (101 301 INV +2 &7 -150 -21.0 21.0
104 304 5¢ O= #A -600 -205.0 205.0(101 301 4v S-1 8 -100 -124.0 1240| 6 206 34 O+1 v7 -170  -31.0 310
6 206 5¢DO= &#A -750 -225.0 225.0|108 308 4v S-1 +¢7 -100 -124.0 124.0|108 308 44 O= 7 -620 -164.0 164.0
7 4 Kn1093 Bésta kontrakt 8 432 Bésta kontrakt 9 » E86 Bésta kontrakt
Syd v K952 34 S =140 Vast v K96542 4v N D -2 -300 Nord vE73 2# 0O =-90
Alla ¢ 1052 Ingen + 10 ov + EKKn10
295 & ¢ v & NT +E1084 & ¢ v & NT #842 & ¢ v & NT
a74 4 K8 N57 8965 « KD54 #1098 N6 3844 4 Kn9 & K10432 N57 6 66
vE76 vKnl104 S578965 v8 v EDKn S6 3844 vDKn62 v109 S57 666
+ E86 ¢ Kn97 085547 + KDKn964 ¢ 732 O 7 105 8 9 4652 ¢+ D74 086 776
#KD1073 #EKn842 V85547 D9 #K765 vV 7 105 8 9 #K1076 #ED9 V86776
» ED652 &« EKn76 4 D75
v D83 v 1073 v K854
+ KD43 ¢ E85 4983
*6 #Kn32 #Kn53
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
103 303 3NO-2 +3 200 63.0 -63.0| 3203 2vN= 4T 110 120.0 -120.0| 1 201 INN= 3 90 9.0 -9.0
104 304 44 O0-2 #6 200 63.0 -63.0(101 301 5¢ V-1 v4 50 102.0 -102.0| 2 202 INN= 2 90 9.0 -9.0
106 306 4# V-2 &7 200 63.0 -63.0(102 302 3v N-1 7 -50 68.0 -68.0| 4204 INN= 43 90 9.0 -9.0
1201 34 S= «K 140 37.0 -37.0(103 303 3vy N-1 +¢2 -50 68.0 -68.0| 5205 INN= 44 90 9.0 -9.0
5205 34 S= &K 140 370 -37.0| 4204 4¢ V= 9v4 -130 39.0 -39.0| 6206 INN= 43 90 9.0 -9.0
2202 3NO-1 46 100 21.0 -21.0| 5205 4¢ V= ¥5 -130 39.0 -39.0| 7 207 INN= a2 90 9.0 -9.0
3203 3#V-1 «J 100 21.0 -21.0|104 304 3¢ V+1 v4  -130 39.0 -39.0| 8208 INN= 42 90 9.0 -9.0
101 301 3NO-1 42 100 21.0 -21.0|106 306 3¢ V+1 43 -130 39.0 -39.0(101 301 INN= 43 90 9.0 -9.0
105 305 5# O-1 ¢K 100 21.0 -21.0| 2202 3vyDN-2 T -300 -23.0 23.0|102 302 INN= T 90 9.0 -9.0
108 308 34 V-1 4J 100 21.0 -21.0( 7207 3NO= T -400 -63.0 63.0|103 303 INN= 42 90 9.0 -9.0
4 204 34 S-1 &K -100 -55.0 55.0|107 307 3NO= T -400 -63.0 63.0|104 304 INN= 42 90 9.0 -9.0
6 206 34 S-1 &K -100 -55.0 55.0| 1201 3NO+1 ¢3 -430 -73.0 73.0|105 305 INN= 42 90 9.0 -9.0
8 208 44 S-1 &K -100 -55.0 55.0| 6206 3NO+1 T -430 -73.0 73.0|106 306 INN= &2 90 9.0 -9.0
7207 3&V= &) -110 -55.0 550 8208 3NO+1 3 -430 -73.0 73.0|107 307 INS= 4] 90 9.0 -9.0
107 307 3« V= 4] -110 -55.0 55.0|105 305 3NO+1 ¢3 -430 -73.0 73.0|108 308 INS-1 43 -50 -55.0 55.0
102 302 44 S-2 &K -200 -93.0 93.0(|108 308 3ANO+1 T -430 -73.0 73.0| 3203 14 O= 3 -80 -71.0 71.0
10 4 KKn93 Basta kontrakt 11 4 Kn6 Basta kontrakt 12 45432 Basta kontrakt
Ost v Kn1086 54 O =-650 Syd v DKn1076 3NT S =400 Vast v EKn109 54 N =650
Alla +43 Ingen + D9874 NS +97
#1097 & ¢ v & NT »9 & ¢ v & NT #ED6 & ¢ v & NT
« ED8754 41062 N3 4523 10873 294 N6 7 9 809 4 Kn8 « E109 N 117 8 119
v K53 vE9 S34523 vE9 v K42 S67 989 vKD642 v853 S 117 8 119
+D ¢ EKn92 O 109 8 119 +3 ¢EKn10652 O 6 6 4 3 4 +D632 ¢ Knl1084 026523
*KD6 #E832 VvV 108 8 119 #D106543 #87 V66434 *K7 #Kn82 V26523
.- & EKD52 4 KD76
v D742 v 853 v7
+ K108765 + K + EK5
+Kn54 #EKKn2 2109543
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
101 301 64DV -2 vJ 500 212.0 -212.0|( 4 204 3NN+2 T 460 103.0 -103.0| 2 202 44 S+1 +3 650 81.0 -81.0
104 304 64 V-2 ¢J 200 166.0 -166.0| 1 201 3NN+1 +6 430 92.0 -92.0| 3 203 44 S+1 vK 650 81.0 -81.0
103 303 64 V-1 ¢4 100 149.0 -149.0( 5205 3NS+1 46 430 92.0 -92.0| 4 204 44 N+1 ¥3 650 81.0 -81.0
5205 3NO= +¢6 -600 -23.0 23.0| 8208 BNN+1 ¢2 430 92.0 -92.0|104 304 44 N+1 ¥3 650 81.0 -81.0
105 305 3NV= ¢J -600 -23.0 23.0(107 307 3NN+1 ¢6 430 92.0 -92.0|105 305 44 S+1 ¢2 650 81.0 -81.0
106 306 3NO= v2 -600 -23.0 23.0(104 304 4v N= &8 420 90.0 -90.0 {107 307 44 S+1 vK 650 81.0 -81.0
2202 44 V= v -620 -35.0 350| 2 202 14 S+2 ¢3 140 -8.0 8.0|102 302 44 S= vK 620 67.0 -67.0
3203 44 V= v4 620 -35.0 35.0|106 306 14 S+2 3 140 -8.0 8.0 /106 306 44 N= ¢3 620 67.0 -67.0
7 207 44 V= v -620 -35.0 350 6 206 14 S+1 #4 110 -22.0 220( 1201 2vDV-3 a5 500 27.0 -27.0
102 302 44 V= vJ -620 -35.0 35.0| 7 207 14 S+1 ¢3 110 -22.0 22.0| 5205 INO-4 &K 200 -73.0 73.0
107 307 44 V= vJ -620 -35.0 350| 3203 4vS-1 3 -50 -73.0 73.0( 8 208 24 N+3 ¢J 200 -73.0 73.0
108 308 44 V= &T -620 -35.0 35.0(|102 302 44 S-1 +¢3 -50 -73.0 73.0(103 303 24 S+3 ¢3 200 -73.0 73.0
1201 44 V+1 v -650 -49.0 49.0|103 303 24 S-1 +¢3 -50 -73.0 73.0| 7 207 2NN+1 ¥3 150 -94.0 94.0
6 206 44 V+1 vJ -650 -49.0 49.0|101 301 44 S-2 3 -100  -94.0 94.0(108 308 2v V-3 ¢9 150 -94.0 94.0
8 208 44 V+1 ¢4 650 -49.0 49.0|105 305 44 S-2 ¢3 -100 -940 940| 6206 2vV-2 49 100 -107.0 107.0
4 204 2¢DS-3 ¢Q -800 -101.0 101.0|108 308 44 S-2 3 -100  -94.0 94.0|101 301 Pass -133.0 133.0
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